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QUESTION 1

As shown in the figure, when the link between SWC and LAND is faulty, through which path are TCA BPDUs sent?
A. From SWA to SWB
B. From SWB to SWC
C. From SWB to SWA

D. From SWC to SWB
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Correct Answer: B

QUESTION 2
Which of the following statements regarding forwarding equivalence class (FEC) in MPLS are false? (Multiple Choice)
A. Packets with the same FEC are processed differently on a MPLS network.

B. FECs can be divided flexibly by source IP address, destination IP address, source port, destination port, protocol
type, VPN, or any combinations of them.

C. MPLS classifies packets with the same forwarding processing mode into one FEC.
D. One FEC has only one unique label marker.

Correct Answer: ACD

QUESTION 3

Which of the following statements regarding Network-Summary-LSA are true? (Choose all that apply.)

A. Link State ID in Network-Summary-LSA is set as the destination network IP address.

B. Net mask in Network-Summary-LSA is set as the network mask of the destination network segment.

C. Metric in Network-Summary-LSA is set as the cost of a route from an ABR to a destination network segment.
D. Network-Summary-LSA is generated by an ASBR.

Correct Answer: ABC

QUESTION 4

BGP is an inter-AS routing protocol. Which statements about BGP are true? (Choose three.)
A. BGP adopts a reliable transmission protocol.

B. BGP supports automatic peer discovery.

C. BGP supports incremental route update.

D. BGP supports various routing policies.

Correct Answer: ACD

QUESTION 5

The Layer 2 packet header in EAPoL packets is | DMAC | SMAC | TYPE | EAPOL | FCS |. Which statements are true?
(Choose three.)
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A. The destination address of packets is a specified MAC address.

B. The destination address of packets is a unicast MAC address.

C. EAPoL packets cannot be forwarded by switches.

D. The source MAC address of packets is the MAC address of the interface that sends packets.

Correct Answer: ACD
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